
1. Three-quarters of a number is 48 

 What is the number? 

 …………………………….. 
 

 
 

2. Calculate 
4
3

 of  840 

 ………………………………. 
 

 
 

3. Match each box to the correct number. 

 One has been done for you. 
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1. A fraction of each shape is shaded. 

 Match each fraction to the correct place on the number line. 

 One has been done for you. 

 0 1

 

 
 

 

 

 

2. Part of this number line is shaded. 

0 1 2

 

 Circle all the numbers below that belong in the shaded part of the number line. 
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3. Here is part of a number line. 

 Write in the two missing numbers. 

 
 

2 2 1
4


